Norm. Track Yield

.JOUTPUTS/Lumi6-4/SHMS/yield data Carbon_clean.csv

y = (0.000046+ 0.000172)x + (0.997046+ 0.005694)
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Norm. Track Yield

..JOUTPUTS/Lumi6-4/HMSlyield data_Carbon_clean.csv

y = (-0.000184  0.000075)x + (1.003961+ 0.003595)
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Norm. Track Yield

JOUTPUTS/Lumi9-2/ptl/yield data Carbon_ HMS.csv

y = (0.000245+ 0.000138)x + (0.993946+ 0.004717)
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Norm. Track Yield

1.04

1.02

0.98

0.96

0.94

JOUTPUTS/Lumi9-2/ptl/yield_data Carbon_ SHMS.csv

y = (0.000447 £ 0.000139)x + (0.988750+ 0.004730)
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Norm. Track Yield
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JOUTPUTS/Lumi9-2/pt2/yield_data Carbon_ HMS.csv
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y = (0.000101+ 0.000170)x + (0.996336+ 0.006441)
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Norm. Track Yield

UMMM AR A

JOUTPUTS/Lumi9-2/pt2/yield_data_Carbon_SHMS.csv

y = (0.000382+ 0.000169)x + (0.987418% 0.006425)
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Renormalized Yield
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Y = (0.000039+ 0.000050)x + (1.002912+ 0.001967)
——e—— ../OUTPUTS/Lumi6-4/SHMS/yield_data_Carbon_clean.gsv
——8—— ../OUTPUTS/Lumi6-4/HMS/yield_data_Carbon_clean.cs
———+—— ../JOUTPUTS/Lumi9-2/ptllyield_data_Carbon_HMS.csv
——%—— ../OUTPUTS/Lumi9-2/ptllyield_data_Carbon_SHMS.cs'
—— —— ../OUTPUTS/Lumi9-2/pt2/yield_data_Carbon_HMS.csv
——@—— ../OUTPUTS/Lumi9-2/pt2/yield_data_Carbon_SHMS.cs' L L1 1 | L L1 | L L1 | L L1 1 | |
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